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™ Mathematics Year L

Set A: Paper2

A builder needs 125 bricks and two sacks of cement to
build a small wall.

’%
‘4 Show your method.
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Award | mark if only one answer is correct.

Five thousand, three hundred and four

55p or £0.55

Award 2 marks for the correct answer.

Award | mark for a correct formal method but the incorrect answer.

£7.35
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Award | mark only if all answers are correct.

20

1000 less Number 1000 more
1325 2325 3325
7265 8265 9265
3037 L4037 5037
L4005 5005 6005
0 1000 2000

Award | mark only if all answers are correct.

5500

2383

L33
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